Stoichiometry Test – Version B
Directions: For each of the following questions, please pick the best choice and mark it on your ScanTron. Under Test ID, put the version letter. PLEASE DO NOT WRITE ON THIS TEST!
One point section

1. Approximately how many moles are in 22 g of carbon dioxide (CO2)?

a. 0.50 mole

b. 0.55 mole

c. 0.79 mole

d. 2.0 moles

2. What is the approximate molar mass of sodium hydroxide (NaOH)?

a. 3 g

b. 20 g

c. 31 g

d. 40 g

3. How many moles of oxygen (O2) are present in 0.16 g of oxygen gas?

a. 0.1 mole

c. 0.05 mole

b. 0.01 mole

d. 0.005 mole

4. Counting the number of atoms is done using the fact that 6.02 x 1023 particles is equal to one

a. liter

b. gram

c. mole

d. atom

5. Which equation is a balanced chemical equation?

A. 2 NaOH + CaBr2 ( Ca(OH)2 + NaBr

B. NO + Cl2 ( NOCl

C. CaCO3 ( CaO + 2CO2
D. 2AlCl3 + 3Mg ( 3MgCl2 + 2Al
Two point section

6. While decomposing calcium carbonate, 168 grams of calcium oxide was recovered. What was the starting mass of calcium carbonate (CaCO3)? The balanced equation of this decomposition is shown below.

CaCO3 ( CaO + CO2
a. 33.0 g

b. 100 g

c. 168 g

d. 300 g

7. Ethane and oxygen were combined to form carbon dioxide and water. The chemical reaction is shown below. If 54.0 grams of water were produced, how much ethane was required?

2C2H6 + 7O2 ( 4CO2 + 6H2O

a. 18.0 grams

b. 30.0 grams

c. 54.0 grams

d. 90.0 grams

8. The equation below shows sodium oxide reacting with water to form sodium hydroxide. 

Na2O + H2O ( 2NaOH

How many grams of sodium oxide will react with water to form 40 grams of sodium hydroxide?

a. 31 grams

b. 40 grams

c. 62 grams

d. 80 grams

9. Etching onto glass (silicon dioxide) is an art form that involves a chemical reaction. Hydrofluoric acid (HF) reacts with the silicon dioxide (SiO2) to produce silicon tetrafluoride (SiF4) and water (H2O). Which is the balanced equation for this reaction?

a. SiO2 + HF ( SiF4 + H2O


c. SiO2 + 2HF ( SiF4 + 2H2O


b. SiO2 + 4HF ( SiF4 + H2O


d. SiO2 + 4HF ( SiF4 + 2H2O

Four point section

Use the following equation to answer questions 10-11:

3 C2H3O2H + Al(OH)3 ( Al(C2H3O2)3 + 3 H2O

10. What is the mass of aluminum acetate that would form from 125 grams of acetic acid (C2H3O2H)?

a. 1275 g

b. 0.03 g

c. 110 g


d. 141 g

11. What is the mass of aluminum acetate that would form from 275 grams of aluminum hydroxide?
a. 719 g

b. 105 g

c. 210 g

d. 2.62 g
Use the following equation to answer questions 12-13:
2 C6H10 + 17 O2 ( 12 CO2 + 10 H2O

12. If this reaction used 35 grams of C6H10, how many grams of carbon dioxide would be formed?

a. 113 grams

c. 131 grams

b. 401 grams

d. 11 grams


13. If this reaction used 45 grams of oxygen, how many grams of carbon dioxide will be formed?

a. 44.7 grams

c. 43.7 grams

b. 7.1 grams

d. 1.0 grams

